Problems involving ‘real life’,

Whole class activity money or measures

Clayton loves to eat raisins. He has 8 at morning break and 15 at
afternoon break. How many does he eat at school all together?

The cake stall at the school fete had 14 chocolate crispy cakes
to sell. By the end of the afternoon they had sold 8. How many
did they have lef1?

Zoé's gran is coming to stay over half term and she is arriving
by train. Zoé is waiting on the platform. The train is due to
arrive in 10 minutes but it is going to be 10 minutes late. How
much longer
will Zo€ have
to wait?
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Problems involving ‘real life’, money or measures

Claire is 6 years old on her next birthday. Her sister
Emma is double her age. How old is Emma?

1.

2. Class 2 are on a school trip and are having an ice cream each.
There are 12 children in the class. Mrs Gates, the teacher, is
trying to carry 12 ice creams all at once
but she drops 7. How many children can
have an ice cream straight away?

3.

Mr Bane, the sports teacher, is trying to organize the rope
that the children will use in the tug of war on sports day. The
piece of rope he has is 15 metres long but
it only needs to be 7 metres. How much
does Mr Bane need to cut off it?

4.]' Rachel and Robert are twins. Their grandma is knitting them
a jacket each. Rachel's jacket will need 6 buttons. Robert's
jacket will need 8 buttons. How many
buttons will Grandma need to buy to

finish the jackets? m&&
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Problems involving ‘real life’, money or measures

Emma is double her age. How old is Emma?

trying to carry 15 ice creams all at once
but she drops 7. How many children can
have an ice cream straight away?

piece of rope he has is 22 metres long but
it only needs to be 15 metres. How much
does Mr Bane need to cut off it?

jacket will need 11 buttons. How many
buttons will Grandma need to buy to
finish the jackets?

Claire is 9 years old on her next birthday. Her sister

Class 2 are on a school trip and are having an ice cream each.
There are 15 children in the class. Mrs Gates, the teacher, is

Mr Bane, the sports teacher, is trying to organize the rope
that the children will use in the tug of war on sports day. The

Rachel and Robert are twins. Their grandma is knitting them
a jacket each. Rachel's jacket will need 7 buttons. Robert's

A
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Problems involving ‘real life’, money or measures

Claire is 12 years old on her next birthday. Her sister
1.1 Emma is double her age. How old is Emma?

Class 2 are on a school trip and are having an ice cream each.

There are 20 children in the class. Mrs Gates, the teacher, is
trying to carry 20 ice creams all at once
but she drops 7. How many children can

have an ice cream straight away?

Mr Bane, the sports teacher, is trying to organize the rope
that the children will use in the tug of war competition on
sports day. The piece of rope he has is
26 metres long but it only needs to be
18 metres. How much does Mr Bane
need to cut off it?

Rachel and Robert are twins. Their grandma is knitting them
a jacket each. Rachel's jacket will need 11 buttons. Robert's
jacket will need 13 buttons. How many
buttons will Grandma need to buy to

finish the jackets? MQ&
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